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FIFTH SEMESTER B.Sc. DEGREE EXAMINATION, NOVEMBER 2017
(CUCBCSS—UG) '

Computer Science

BCS 5B 09—JAVA PROGRAMMING
Time : Three Hours Maximum : 80 Mark:

Part A

Answer all questions.
1 mark each.

1. JVMis an interpreter of

(a) Source code. . (b)), hine code.
(c) Byte code. ﬁ’j §hxecut’.ahle code.
2. The checkbox object generates _K:Q‘ f

(a) Action Event. "“) (b) Adjustment Event .

(c) This. ' (d) Constructor.

4. In Java size of float is bytes, .
(a) 4. (b) 8.
(c) 16. - _ (d) 32.
5. Ifaclass declared as , it cannot be inherited.
(a) Abstract. (b). Final.
~ (¢) Extends. (d) None of these.

is the default layout manager.

The keyword to declare a constant that cannot be changed is

is an instance of class. | — —_
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is a method to name a label.

10. All exceptions are subclasses of
(10 x 1 = 10 marks
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Part B

Answer all questions.
2 marks each.

What is a thread ?
Write the constructors of list class.
What do you mean by dynamic method dispatch method ?
Explain finally with example.
What is an event listener ?
(5 x 2 = 10 marks)
Part C (Short Essay)

Answer any five questions.
4 marks each.

Explain life cycle of thread. n\
Explain choice control. ’
Explain Buffered writer class. RAY

Write a Java program to implement Ap‘pht euneept.
Explain interfaces with syntax aﬂmple
Write a Java program to dq:sw tmﬂ rectangle, circle, arc etc.
Explain various AWT eunl'.m‘h
With an example, explain how to create a child thread by implementing runnable interface.
(5 x 4 = 20 marks)
Part D (Essay)

Answer any five questions.
8 marks each.

Explain important features t;f Java.

Explain four layout managers.

Discuss different stages in the life cycle of an applet.

Describe multiple and multilevel inheritance.

Write a prt;gram using while loop to reverse the digit for any number.
Write a program to deaign a digital clock.

| ] e. The b‘

Explain in detail the different types of operator in Java.

(6 x 8 = 40 marks)



